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Economics
Paper II

AL I
gyatrent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e

The price of money next year in
terms of money, this year is
expressed as .................. .

(A) 1 + real interest rate
(B) 1 + nominal interest rate

1
(©) 1 + real interest rate

1
(D) 1 + nominal interest rate

If X4, X9, Xg, e, , X, is a random
sample from a normally distributed

population with mean p and
variance 62, the sampling
distribution of ¥ is:

(A) Normal with mean p and

variance G2

(B) Normal with mean p and
variance g2 /p,2

(C) Normal with mean p and
variance g2 /p

(D) Cannot say

T aETeA YR W Yere S
e forma weft e B ?

(A) 1 + 9r%dd &A1 X

B) 1 + AHAR &N X

©) 1+ 91 AT <X

D) 1+ e =

FHT Xy, g, Xgy ooereeens , X, B & TR

sfon o2 ® fogem s g

ARG qeTell TR T 378, W T

= AT faaXo Eetierdeh! Shiod 3T ?

(A) TED p enfor faeed o2 oo
HHMH

(B) §UE p Ao 52,2 § fo=em
S JHH

(C) Tl p o 52/, ® foe=ed
FHAA THH

(D) 9Tl 3d AR

[P.T.O.



The logistic regression model is used

to analyze :

(A) Discrete choice

(B) Continuous choice

(C) National income

(D) Incorrectly measured data

ARIMA (p, d, g) models are used to

analyze :

(A) cross-section data
(B) discrete data

(C) time series data
(D) unstable data

The estimate of § in the following
regression model Y; = o+ pX; +¢; is
given by :

l; _ Z(Xl - X) (YL - ?)
(A) Z(XL _ )_()2

B) b=Y-aX

l’)‘ _ Z(Xl - X) (YL —?)
(©) FX %

5 i 23X -X)?
ST o2
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Al I IfqHM Sl SHIme

forgeioon oAl AT ?
(A) Tafaer fers
(B) e fere
(C) U™ 3=

(D) FHTEl ARSI 3T el

ARIMA (p, d, q) JfTHM @Tee ShIore
Geufd aroRard ?

(A) wewg ooy

(B) fafaed stengari
(C) &Il I
(D) AR faqr

Yi=OC+BXi+ei oAl itﬁ_q gﬁ-q-lm_'{
i f =t feaa @meia o Ted

6 _ Z(Xl —}_() (Yl —?)
(A) Z(XL _ }_()2

B) b=Y-aX

5 XX =% (%~ %)
(©) X -%

S A oY




In the following regression model
Y, =o+pX; +e;, under the usual
assumptions, variance of § is given
by :

(A) 52

(52

® x,-%?

(X, - X)?
©) (1—2)
(e)

(Y, - Y)?
D) — 55—
0

For the following input-output table,
what would be the technology

MAR - 11223/11—B

Y, =o+BX; +e, &M Te(A giqamHa
GTTHIT, el fedeh o] ST el
p @ fo=em wrefiats! w9 ?

(A) 52

02

B 3%, %7
(X, - X)?

(© ==

(Y, - Y)?
D) — 55—
0

e hm ffawi-sfel aecarare
qifes 9ROt IO T ?

matrix ?

Sector A B Final Demand
A 50 150 200
B 100 75 100

178 6/11]
A =114 3711
'3/11 1/8]

M =
B F=16/11 1/4
v /4 18
© ¥=13/11 6/11
\_[6/11 178
D =13/11 1/4

s A B 3ifaw AmTUT
A 50 150 200
B 100 75 100
(1/8 6/11]
M =
@A) F=11/4 3711
\_[3/11 1/8]
B) ®=16/11 1/4
1/4 1/8
M =
© *=13/11 6/11}
\_[6/11 1/8
D F=13/11 1/4

[P.T.O.



Suppose that the total cost of
producing x units of a product is
c(x)=x2-6x2+15x - Find the
number of units for which the

average cost A(x) is minimum.

A x=5
B) x =7
€ x=1
D) x =3

For the demand function :
3x + 4y = 10

where y is the price per unit and x
is the number of units, find total

revenue and marginal revenue.

(A) 5/92x-3/4x2, 5/2-3/2x
B) 2/5x-4/3x2, 2/5-4/3x
C) 1/5x-2/3x%2, 1/5-2/3x

D) 3/4x-5/2x2, 3/4-5/2x

MAR - 11223/1I—B

IS x TS SHRAER THY 29

c(x)=x3—6x2+15x aﬁﬁﬁ'{xa@

fohcll TehehIdTS! AU = A(x) ~JAaH

TR TEA ?

(A) x =5
B) x =7
C) x=1
D) x =3

el HETOl el HIel TR ATl 3Tfor
HHa gTd S e

3x + 4y = 10
qd y Tl Teheh fohHa QRiforal ST
(A) 5/2x—-3/4x2, 5/2-3/2x
B) 2/5x-4/3x* 2/5-4/3«x
(C) 1/5x-2/3x% 1/5-2/3x

D) 3/4x-5/2x%2, 3/4-5/2x




10.

11.

Agricultural production in India
increases in Arithmetic progression
beginning from 2000. If production
in 2004 and 2014 was 68 and 88 mn
tonnes, then estimate production of

2017.
(A) 98
(B) 93
(C) 91
(D) 94

Marginal cost function is obtained
by :
(A) Integrating the total cost

function

(B) Differentiating the fixed cost

function

(C) Integrating total variable cost

function

(D) Differentiating total cost or

variable cost function

10.

11.

MAR - 11223/11—B

RIS Iceh! ScareHr=l o8 2000 g
TR SEER 210, 2004 70T 2014
A S IAIGA 68 301 88 THie=H =4
T eATE 2017 HEA QTSI Skt

oA ~
34ed Thdl 3HA 7

(A) 98

(B) 93

(C) 91

(D) 94

A = %l Jeletush! Shivel HITH

T B IehA 2

N o
(A) THRU =TT Thelld TehIcHh I

(B) feR =99 w9 =Ha=aeH

(C) TR = &I THelld ThIH R

(D) THY =T foal 9@ = Ha™

V]

[P.T.O.



12. The intersection of the offer curves

13.

of two nations shows :

(A) The equilibrium relative
commodity price at which trade

takes place between two nations

(B) The equilibrium relative
currency price at which trade

takes place between two nations

(C) The equilibrium relative factor
price at which trade takes place

between two nations

(D) The equilibrium relative

technology price at which trade

takes place between two nations

The International Development
Agency (IDA) was established in
................. and it has its headquarters

IN e .

(A) 1960 — Geneva

(B) 1960 — Washington
(C) 1955 — Rome

(D) 1960 — New York

12. T ST AT TR SeATSG.

13.

MAR - 11223/1I—B

¥ T¥ifol.

(A) FFdA FHe %] fhAd HT FeR

T A AR Bl

(B) THAIA TOY T fhad sl <Imer

T U AR Bl

(C) IHAIA |19l ek fohAd i SAeR

T TS AR Bl

(D) THAIA |19l I3 fohad i el

T U AR Bl

SIHYAA SoRdIHe TSHr=]  TTIA]

(A) 1960 — fSifest
(B) 1960 — iy
(C) 1955 — IM

(D) 1960 — =g3ifeh




14. Linder’s

15.

spillover theory is

applicable to trade in .................... .
(A) Agricultural goods

(B) Manufactured goods

(C) Services

(D) Defence equipments

When a small nation imposes an

import tariff .................. .

(A) The domestic price of the
importable commodity decreases
by the full amount of the tariff

for consumers in the nation

(B) The domestic price of the
importable commodity rises by
the full amount of the tariff for

consumers in the nation

(C) The domestic price of the
importable commodity remains
constant for consumers in the

nation

(D) The domestic prices of the
inputs of importable commodity
rises by the full amount of the

tariff for producers in the nation

15.

MAR - 11223/11—B

(A) FH a5

(B) SREMERT &%]
(C) ¥
(D) ER& o]

Sgl BT <Y STMATd SThTdl ATl

(A) SIIMATA SUMISFATETS]  TATARTH

e QEnaa feAd gul SR

N faY N
LenHgdenl ®cd

(B) 2SIl SIS STTATA&TH

&l Qe feAd guf SR
TehRHEehR] aTed

(C) 2IMad SYMERATHTS AATA&TH
Tt emarta femd R wEd

(D) I SURCHIHS STATALTH

SR AR fhadt qui srehm

THUSAR aTeard

[P.T.O.



16.

17.

18.

China’s currency was included in the
Special Drawing Rights (SDR)

composition in .................. .
(A) 2016
(B) 2010
(C) 1964
(D) 2017

Increase in the supply of money in

the economy leads to ................ .
(A) Trade surplus

(B) Trade equilibrium

(C) Trade deficit

(D) Rise in rate of interest

According to the Product Cycle
Hypothesis, innovation leads to

for the innovating

country.

(A) Absolute monopoly
(B) Relative monopoly
(C) Temporary monopoly

(D) Long-term monopoly

16.

17.

18.

MAR - 11223/1I—B

o9 39T SRR SIeshTd =T =TT

(A) 2016
(B) 2010
(C) 1964

(D) 2017

STefFERIdd U= el Jeedrd Tl

(A) MR e
(B) =MUR 9HdrA
(C) &AM |2

(D) AN 96

IR I fedeRrad TAIHIR
QUM AT FAHem=n qRomH  gereTgH ol
B,

(A) TT=w Feer
(B) qoIcHS HRGRI
(C) AT HeKRIQRT

(D) <TeeRTeA Heke

10



19.

20.

Which concept of the terms of trade
attempts to capture productivity in
export and import competing sectors

of a country ?

(A) Gross Barter Terms of Trade
(B) Net Barter Terms of Trade
(C) Income Terms of Trade

(D) Double Factoral Terms of Trade

Statement 1 : Any change that
affects that IS, LM and BP curves
can affect the nation’s aggregate

demand curve.

Statement 2 : Aggregate demand
curve of the nation depends whether
the nation operates under fixed or

flexible exchange rate.

(A) Both the statements 1 and 2 are

incorrect

(B) Both the statements 1 and 2 are

correct

(C) Statement 1 is correct but the

statement 2 is incorrect

(D) Statement 1 is incorrect but the

statement 2 is correct

19.

20.

MAR - 11223/11—B

SR Tl IO Fhod T TSI
3T 9 Fafd Tael S5 Sceehdl |
FIOET GAE Fd ?

(A) To[@ % AR I

(B) fiede a&q =AMUR vt
(C) 39+ MR 3wt
(D) fgoesh =R

faam™ 1 : 379 W9, Ta U9 9 Faerad
WW h{U[{] eI’)Il‘lk'll'i?l dgel QRI=AI
GHYI AU FhieR IR e ITehdl.

faem 2 : <vmen 9=y qEen 9% oW

o o

feer a1oren sgen fafma Tudent wem
FAla A e ger flR erm.

(A) faum 1 9 faum 2 & <= faum
Ik 3T

(B) faum 1 9 faum 2 & <=8 faum
e 3T

(C) faerm 1 slieR 3118 W faem 2 9
e

(D) foum 1 9% o1 W faam 2 sk
e

11

[P.T.O.



21.

22.

23.

The World Bank mainly finances

(A) Agricultural — Short term
(B) Industry — Long term

(C) Energy — Medium + Long term
(D) Transport — Long term

Which one of the following is a cause

of market failure ?

(A)

Consumption is rival

(B)

Exclusion is not feasible and

consumption is non-rival

(C) Say’s law of market

(D)

Exclusion is feasible

Market functions on the principle

of :

(A) Equimarginal
(B) Exclusion
(C) Inclusion

(D) Perfection

22.

23.

MAR - 11223/1I—B

. P
................... ey B e s
(A) FH — SFCqhTCAH

(B) &M — e

(C) &stt — weAw + eI

(D) IRqH — Sk

TR SR TCAATRT 10 R

A ?
(A) 3U9T gfaeeicrs STe

(B) oS 1 A&l 7707 ST 31-Ffd-
pesboirescollice Y

(C) ¥ =1 seREn 2w
(D) oS T SR

e ShTd L.

12



24. The claim that market mechanism

25.

26.

leads to efficient resource use is

based on the condition of ............. )
(A) Monopoly
(B) Inclusion

(C) Competitive factor and product

market
(D) Exclusion

The marginal cost of providing
public goods to one additional person

is equal to :

(A) Zero

(B) Between one and zero

(C) Between minus one and zero
(D) Between minus one and one

Externality is defined as the

by a non-consumer which is not
included in the price of the

commodity concerned.

(A) Cost incurred

(B) Benefit enjoyed

(C) Cost incurred or benefit enjoyed

(D) Cost of a commodity produced

MAR - 11223/11—B

24, SR TAIHos ATETHRIET e o

25.

(B) HHETH
(C) TaeficHer ®eeh 30T o STeIR
(D) i

eIk T Teh1 ATEh=AT SKiTell

3Ucied ched QU] Hﬁl‘-li('l SR

3T

(A) A

(B) I 1 TH =M
(C) SU Th d YA TN
(D) SU Th d Th TN

(A) Sl =g S
(B) THGU ny=n Sdqoiell 3AMe S

(C) FTAen =g fehem M= Siderel
A S

(D) 3cUISd &= &

13
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27.

28.

Efficiency in distribution requires

that :

(A) Marginal rate of substitution
between two goods are equal for

all consumers

(B) Marginal rate of technical
substitution are equal for all

firms

(C) Marginal rate of technical
substitution are unequal for all

firms

(D) Marginal rate of substitution

are equal for all firms

If the budget surplus is to measure
public saving in the sense of reduction
in aggregate demand, surplus should
be defined as ................. .

(A) The excess of total expenditure

over tax revenue

(B)

The excess of tax revenue over

total expenditure

(&)

Equality of revenue and

expenditure

(D) Equality of debt and revenue

27.

28.

MAR - 11223/1I—B

ERUINGREIREEREIG

SATARYehdl  HMHd.

(A) o SUHRRAEIS! I SAL A THH
g TiEar R

(B) Td TS 98 HiHid difsieh
T gL

(C) Hd SuNEEIget fa= dyiq qifies
T <X

(D) ¥d SENTMHERIEET 99 HWHid
T T

SR AR MU TR ARTvi=

AT AR HIUT RIS STHATH

e

(A) X HEYeITIET Tl T 3TfHeh 30

(B) THU TATUET h HEgA S TH0]

(C) wega T T=iel oM

(D) st T AEgATE qHA

14
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29. The central instrument of expendi- 29. TY HRUTE held W 3.
ture policy is ................. . (A) @ e
(A) The cash reserve ratio
(B) fovi smetur StfyeRR
(B) Special drawing rights
(C) SETSIIh
(C) The budget
(D) Statutory liquidity ratio (D) et e oI
30. Surplus finance generates ................ 30. onfee fomes stefdehodray
effect in the budget. 3 aRomm gl
(A) A contraction (A) F&=
(B) Expansion (B) fasmr
(C) Stabilization (C) =&
(D) Monetization (D) TfgerTom
31. When an expansionary fiscal policy | 31. Siegl foil TSTehIS RO STacid shell
is adopted .................. are lowered and AT ey e o T IR et
.................... are increased.
............... q.lﬁ. a.lg _‘_Qﬁﬁ
(A) Tax rates and government
spendings (A) HT T 30 IEHRE T
(B) Government spendings and (B) YEH™ T o7t = <%
interest rates
(C) TdHRRA M &I ST
(C) Subsidies and tax rates
(D) Tax rates and surcharges D) FT T M AR
15 [P.T.O.



32.

33.

34.

The Laffer curve shows the relation-

ship between ............... .

(A) Tax rate and tax revenue
(B) Tax base and tax rate

(C) Tax base and tax revenue
(D) Tax rate and fiscal deficit

The reason why indirect taxes are

termed regressive is because :

(A)

Their rates are higher than

direct tax rates

(B)

Their rates are different for

different income groups

(&)

They are not charged for some

income groups

(D) Their rates are same for all

income groups

The number of times a unit of money
exchanges hands during a unit period

of time. What is it known as :

(A)

Velocity of circulation of money

(B)

Speed of circulation of money

(&)

Momentum of circulation of

money

(D) Count of circulation of money

33.

34.

MAR - 11223/1I—B

W aa; %’[ ..................... m q%ﬂ?’{ wgl.

G

(A) T T 301 HT HYA

(B) =1 9T ST Y ST

(C) =T 9l M0 hY HEHA

(D) *X T Ay foia e

AT HUAT FIAH e Sd hR0T

(A) M= T GI&T hUUeT SR STHATd

(B) fafay Sca= e idr <= ST SreTes
A

(C) HTEN 3T TETeR AUHET hi ATTA
SIEEIFE

(D) ™™ < Hd 3= TEhdl RS
ST

Sfoeh TGS THT TehT TIART GE=a

gTdTd eEATdiid  BIUAT=AT ATMAT 1

U ?

(A) TRm=T 9o 9
(B) et wRE=Ror T
(C) Temren wRE=Ror 3
(D) T gfE=rRor 7o

16



35.

36.

In the terminology of economics and
money demand, the term M, and M,

are also known as :
(A) Short money
(B) Long money
(C) Broad money
(D) Narrow money

If the interest rates on all bonds rise
from 5 to 6 percent over the course
of the year, which bond would you

prefer to have been holding ?

(A) A bond with one year maturity
(B) A bond with five year maturity
(C) A bond with ten year maturity

(D) A bond with twenty year

maturity

35.

36.

MAR - 11223/11—B

arefyreT=ar enfor gvmeAr gTTvieAn

R M, 3T My, o1 S RN
(A) s1d T
(B) <l T
(C) foreqa T

(D) TRfea T

SR Td QBT SATSel o SR

HIATGHT 5 TTHITEE 6 TFHTIIT aed
W H3d J@ e vd™ AT JE=T
A ?

AN N N

(A) TH o= Hede U@

(B) 9= auteAl Hede 8

(C) <@l o= Had= T8

(D) &9 aui=n Hged T@

17

[P.T.O.



37.

38.

If a bank chooses to purchase

securities rather than extend loans

with its excess reserves ............... }

(A) The expansion of deposits in the
banking system will be

dampened

(B) The effect on deposits will be the
same as if the bank had held
back its excess reserves in vault

cash

(C) The effect on deposits will be the
same as if the bank had

extended loans

(D)

The extension of deposits in the
banking system will be

extended

If you expect the inflation rate to
be 4 percent next year and a one
year bond has a yield to maturity
of 7 percent, then the real interest

rate on this bond is .................. .
(A) -3 percent
(B) —2 percent
(C) 3 percent

(D) 7 percent

37.

38.

MAR - 11223/1I—B

SR TEE] s foen S e fAef=n

NN

N o
NECERC I

~ Iy ~ o
3T ksl AT@ATITIS |

HLOITETST hid

(A) ST e 3= foaR HHl B

(B) & fau eAfafted vigaa fasikidia

AT I qETE YoM Seiok
FIE]
(C) S war=n fomR ey

(D) SehiT HaEId el faear aTed

T a1 JHeAT ST S FERTe
T 4 TFH TFel FAIUR A AT
1 aui= TEAr= Heagdidaid 3¢9 §
7 TG ST, T 1 IS s
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39. The process by which RBI or any 39. W fgd o el HIEE et
central bank protects the economy ok SieRT SrefeeRde 7k he aifefsh
against adverse economic shocks is L&l T | I T T FrGre
known as ..........eeeeee.. . T TR
(A) Protection (A) H&T
(B) Liberalization (B) SR
(C) Stabilization (C) feerim
(D) Sterilization D) eI

40. 1. All banks have to lend at least | 40. 1. W& a1 &= fea@ wHsiren

40 percent of their net credit to ffAE 40 ZFp TEE ST <0
the priority sector. AETF 3R
II. Foreign banks with less than 20 I 2019.20 W faeft S =0
branches will move to total
. TN 20 Y& HHT 3Ted R = WA
priority sector target of 40
percent by 2019-20. 49T 40 THERTH A& TS,
What do you have to say about el faLMER 39l 1T WUl 3R ?
the above statement ?
(A) faum 1 9 et faem 11 s
(A) Statement I is correct and II is s
incorrect
(B) Statement I is incorrect and II (B) o9 1 e 1T ==
is correct e
(C) Statements I and II are correct (C) faum 1 srfor II Irg a1Rd
(D) Statements I and II are incorrect (D) faum I s7for II sTEma 3Ted
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41.

42.

What does the term ‘Gross

Investment’ mean while denoting a

nation’s economy ?

(A) Gross Investment = Net

Investment + Depreciation

(B) Gross Investment = Net

Investment — Depreciation

(C) Gross Investment =

Depreciation — Net Investment

(D)

Gross Investment

Depreciation + Savings

What is Fedwire ?

(A) is a financial news network
developed by the Federal

Reserve Board

(B) is used for interbank transfers

by the Federal Reserve Bank

(C) is used by the Federal Reserve
Bank to make loans to member

banks

(D) None of the above

41.

42.

MAR - 11223/1I—B

M STfFeReT U A TR
Taees’ A e Y wE ?

~

(A) THU T[aaE = =9 [aau

+ EEN

(B) THU Tqau& = feges Taav
— TR

(C) T&HY Taav® = ORI — oae

AR
(D) THI [AAUH = TGN + o9d
‘hearR’ ®IN & ?

(A) wete e e foenfid weid T

o

ENIE

ST T8

(B) hetd e dehgR STcRelh &iaiol-
el araelt ST

(C) TS&T Sl el QOIS Held
fgrd dhgR AR S

(aV

(D) SeTdeh! hIUder Tal
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43. A

source of conflict between
monetary and fiscal policy decision

makers is that :

I. Fiscal policy decision makers
place more emphasis on short-
term objectives while monetary
policy makers focus on long

term objectives.

II. It is easier, from a political
standpoint, to pay for increased
government spending by tax
expansion than by monetary

expansion.

What do you have to say about the

above statements ?

(A) Statement I is correct and II is

incorrect

(B) Statement I is incorrect and II

1S correct
(C) Statements I and II are incorrect

(D) Statements I and II are correct

MAR - 11223/11—B

43. difgeh o1 TStenisie &or fHuigeheat=n

goiea fader™ 9d § 3R :

[. TSRS Ronfasees fAofg Som
STCURIC Sfetera 31THeh SR Tar
™ Hifger eronfaozes fofg som

[a VNN [a

STeeRTel SfEseR 9187 whigd Shidid.

II. TS SfeshArgd 318 WO 91

3T ! LRI el EEEs
3T & R fazarmen Aifss famarm

.

g faamieR 3Toel 1 Bury R ?

(A) faum I gmg sufor 11 o1 3R

(B) faum I sy anfor 11 g 18

(C) faum 1 anfor 11 e@mg eTRd

(D) faum 1 enfor 11 9rg emRd
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44. Match the following :

(@) Chakravarty Committee Report

(b) Nationalization of RBI

(¢c) Committee Report on Banking

Sector Reforms

(d)

Banks
@) 1998
@) 1969
(i) 1985
(fv) 1949
Codes :

(@) (®)
A @O @)
(B) Gv) (@ii)
(C) Gv) (@)

D) @) o)

Nationalization of Commercial

) (@

@) (v)

@) @)

@ @)

@ @)

MAR - 11223/1I—B

44, Sred Jeodl

(@) TIshodt G T8aTe
b) T da Ui

(¢) fepm & gumon It seara

(d) =AM ST TSR
() 1998
(ir) 1969
(z11) 1985
(tv) 1949
Hehdiah :

(@ @) (o

(d)

A @) @) @D (o)

B) Gv) Gu) @) @)
(C) (v) Gu) @) @)

D) @) @) @) 6@
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45.

46.

Put the following events in India in
the correct chronological order,

starting from the oldest one :
(z) NABARD incorporated
(i) RBI nationalized

(iit) Fourteen commercial banks

nationalized

(iv) Establishment of State Bank of
India

(A) @), Gv), Gi), @)

B) G, @), Gv), @)

C) @, @), @Gv), (@)

D) @), Gv), @), @)

According to Adam Smith, profits

tend to decline, when ................ .
(A) Prices fall
(B) Rent increases

(C) Competition increases among

capitalists

(D) Government intervenes

MAR - 11223/11—B

45. JUHAIYA A HET WRAA ©ee

46.

Sl ShicTshH feTal .
() TerSEt T

(i) YR fgd ddha T

(tii) DT AN SR AR
(iv) W2 dF 3% SfeArel Tme

A) @), Go), Gn),

@)

(B) @), @), (),

(ti)

©) ©, @), o), @)

D) @), Gu), @), @)

fen fmy ar=a wd, % ¥ed S,

SR

(A) TRudl sed Sa

(B) T ded Sl
(C) WisaeerHeidl Tufd a1e BId

(D) IMEA TEHY
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47.

48.

Which of the following is not a

criticism of classical theory of

development ?

(A) Ignores rich class

(B) Ignores middle class

(C) Unrealistic growth process

(D) Neglects public sector

Match the following :
Theories

(@)

)

()

(d)

Balanced growth
Unbalanced growth
Social dualism
Geographic dualism
Propounder

(@) J. H. Boeke
(i1)
(ii1)
(tv) A. O. Hirschman

Rosenstein Rodan

Gunnar Myrdal

Codes :
(@) (b)
(A) (v) @)

) (@)
@ @)

B) @ @)
(C) @) @v)
D) @) @)

@) (v)
@ @)
() (i)

47.

48.

MAR - 11223/1I—B

Eeileeh! hIorat fesht o1fisia faerm
fagrar=t wmér 2

(A) sfima aee gate

(B) AeATAIHRS Gaial

(C) STar<d g@i Ufshan

(D) WESTh &=he gad

AT Se el
fagia
(@) wGgfad gal
(b) STEgferd I
(¢) TSI GaaTS
(d) wrifers gaamg
LS REl
@) S T SR
ARRESSIES ERSIE
(iii) TR fHeie
(v) T 3N BYHEA
Hehdlah :
(@) (b)
(A) Gv) (i)

(e ()
@ @)

B) @ @)
(C) (@) ()
D) Gv) @)

(@) ()
@ @)
(i) (i)
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49.

50.

51.

Which of the following is not an
assumption in Meade’s growth

model ?
(A) Closed economy

(B) Labour and machine are the

only form of capital
(C) Laissez faire
(D) Perfect competition

Kaldor in his model of economic
growth follows the approaches given
o) 72N .

(A) Harrod and Keynes

(B) Harrod and Domar

(C) Hirschman and Lewis

(D) Nurkse and Rosenstein-Rodan

An economy showing a contrast
between economic and social
organisation of the modern sector

and traditional sector is called ........ .
(A) Advanced economy

(B) Dual economy

(C) Undeveloped economy

(D) Mixed economy

49.

50.

51.

MAR - 11223/11—B

TTeAedeh! IV eI HIS A= J§]
eI AT ?

(A) wifced et

(B) M onfor 93 €= Wieaarl &9
e

(C) fréxadm whenn Sl
(D) 7ol W ARad

HICER AT AT AffF JGT IEda
................. W m W @E‘[
3TTe.

(A) e afor &4

(B) e anfor Sy

(C) BTEmA emfor wferw

(D) Fd T VS =rEA-USH

1 A= YRk 0 qRINR

Tl Tfefer oTIfor WrHTfSIeh Teeaaed

(A) WTd srefesrereen
(B) fgget srefestereen
(C) Afaehfaa srefedereen
(D) Tag sref=esen
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52.

53.

54.

Harrod emphasised .................. aspect

of investment in his growth model.
(A) Decreasing

(B) Deepening

(C) Widening

(D) Increasing

The ‘Exogenous’ growth model is

propounded by ................... .
(A) R. Solow

(B) J. Meade

(C) Joan Robinson

(D) Harrod and Domar

According to the World Bank, the
‘East Asian Miracle’ happened due

[0 S .

(A) Growing capital stock
(B) Total factor productivity
(C) Increasing labour stock

(D) Role of Government

52. BT I AU J§I WEUE

53.

MAR - 11223/1I—B

IGE G e C LR L 1
(A) ==t

(B) w@e

(C) forafid

(D) et

dfgstid JGI AET

3R.
(A) 3R. Hrell
(B) S. He

(A) el dedl 9al

(B) THUT ®Zh 3cqIeohdl

(C) dmedl ¢H Hial

(D) e YfHeh
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55.

56.

H. Uzawa’s model of growth is also

known as ....ccccccceeeeen. .

(A) One-sector model

(B) Agriculture sector model
(C) Industrial sector model

(D) Two-sector model of growth

The Planning Commission has
updated poverty lines and poverty
ratios for 2011-12 based on the

recommendations by ................. .

55.

56.

MAR - 11223/11—B

T, STME1 A= GG e

LG e W

(A) TH-&F &g
(B) T &3 u&q
(C) sfEnfin &5 W&y
(D) g5 fgas wrey

e freREfiar smenfa
IS s 2011-12 a1 FETe!
TIE=R 3TIYT STRGE U STeRedi-
FHO el IR

(A) Dandekar and Rath Study (A) TEFT ST 2
(B) P. D. Ojha Study (B) dh. €t e
(C) A. Vaidyanathan Committee (C) T SEred wfHel
(D) Tendulkar Committee (D) dgerh Ffedt
57. Direct controls by the Central | 57. ®% WEAER oA 9 o
Government include : | cvvrtTTY I 9P el
(A) Price control and rationing (A) frua fson st frgaey
(B) Price control and monetary B) fem fr s S G
policy
(C) Monetary and Fiscal Policy () wifs oo AT SR
(D) Price Control and Fiscal Policy (D) e Fesmn enfor Tsrehrsa e
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58.

59.

According to Solow’s neo-classical
model of growth, an increase in a
country’s savings rate will cause

an ................ .

(A) Increase in the level of income
per head in the short run but

not in the long run

(B) Increase in the rate of growth
in the short run but not in the

long run

(C) Increase in both income per
head levels and growth rates in

the long run

(D)

Increase in neither income per
head levels nor growth rates in

the long run

Which of the following is a concise
way of examining the mortality
changes in the social security

population over time ?

(A) A life table

(B) Social security measure
(C) Infant mortality rate

(D) Death rates

58.

59.

MAR - 11223/1I—B

el T Fa- AT S WEITaR

TEed SMAT T el Ao

(A) TIEE U STCUHI@A dI8 BId,

Ry <M e wa A

(B) 9¢I TC 3Tl a1& 81, W

reiehTeold aTe Bid el

(C) TTHRIRT TIESIE U= UTdadid o

IS A1 T dE B

(D) TTERIRA LSS Icq— UIdesid Tohdll

JSIEUd & 9@ B ATel

AR Y& AThEEAl il Fere

TR el qX&0] shivdral e
AF TRl RVl AR ?

(A) SfeF F Rl
(B) @ISR HR&m U
(C) 19k g X

D) g X
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60. Permits create a market price for

61.

pollution and therefore can be traded
between firms. To have low
transaction cost for these permits,

they must be .................. .

(A) Homogenous, not divisible and

exchangeable

(B)

Homogenous, perfectly divisible

and exchangeable

(&)

Homogenous, non-rival and

excludable

(D)

Homogenous, non-divisible and

excludable

Which year is considered a great

demographic divide in India ?

60.

61.
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HCQIUII‘C{I EISIERIE] l‘I{Oll:l oddld "‘6”.]_\‘1"3{
T SSANT-HEIE T AR 8IS Iehdl.
a9 ‘<I{°ll*¢lit{l i;h‘-ll'l ={dglX oY W

q TATAgHO ST
(A) TefsHl, stfaursy ot fafre=ra

(B) UskfSHl, quiqul fawursy i
ot

(C) Tmfaadt, oreuerfegss  aA7for

EERRRE)
(D) Ushfae, sifaursy enfor asiara

IRA dlsheed fausHe a8 FuH
HIOT o FBEA WA ?

(A) 1911 (A) 1911
(B) 1921 (B) 1921
(C) 1931 (C) 1931
(D) 1941 (D) 1941
62. Name the agreement that was | 62 B8 ST IS U FiS quarEret
signed to fix the greenhouse gas hedcdl I A9 |
emissions : A) i :
(A) Montreal Protocol
(B) TRl IR
(B) Kyoto Protocol
(C) Greenhouse Gas Protocol (C) TRAE a1 I
(D) Paris Protocol (D) 9RE IR
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63.

64.

65.

The first census in India was

conducted by :

(A) Lord Ripon
(B) Lord Lytton
(C) Lord Minto
(D) Lord Mayo

In 1987, the United Nations

convened a meeting in Canada to
address the problem of ozone
depletion. What is the name of
agreement that was transacted at

that meeting ?

(A) Chemical Responsibility Program
(B) Montreal Protocol

(C) Kyoto Protocol

(D) The European Union Emissions

Trading Scheme (EU-ETS)

Which of the following is not the

cause of migration in India ?
(A) Environment

(B) Employment

(C) Education

(D) Having a permanent govt. job

63.

64.

65.
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qRA Fald l‘Ii\‘é(’ﬁll SERUEEERCIEISE!

U0 el ?
(A) «fe Ram
(B) @fe faem
(C) wre fiar
(D) @ Hm=

1987 TEA TIYF TSTHEM A= HH]
oA qREE eI SoaTarat
HISHEY Teh ok TSI shell Bl
T ASHIA HAT IR A HE

qe ?

(A) TEEMS SereRRl hrEiha

(B) Hif=aal IR

(C) &l HR

(D) FAFTEA FEA IS AR A1

WA TAUenT ShIVRT RO TR JIUATe!
YRAHEN AN USd AATEl ?

(A) ==

(B) il

(C) foramm

(D) HEAAEEY TR AR STHAA
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66.

67.

If production of a product causes
pollution and the government does
not intervene, what is the social

outcome of the producer’s decision ?

(A) The decision will result in

social-economic equity

(B) The decision will result in

social-economic efficiency

(C) The decision will result in

social-economic inefficiency

(D) The decision will result in the
underproduction of product from

a society’s perspective

As per 2011 census, the largest

urban agglomeration in India is :
(A) Mumbai

(B) Delhi

(C) Kolkata

(D) Chennai

66.

67.

MAR - 11223/11—B

TEeH] ScqTeAT TTHT JG80T shid 3T

THR AT G A6l T, SCAGehTAT

foiare gmifSes aftomy &= eRd 2

(A) frofarn aftomm wmfSes-enfefs

TIAEE R

(B) fAofamn 9ftomm wmnfSes-emfefs
HEieTEAd Bea

(C) TAvfarn 9ftomm wmfSes-erfefes

HITHIT Bled
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68.

69.

Goods such as Hamburgers and

French fries are examples of :
(A) Rival goods

(B) Non-rival goods

(C) Public goods

(D) Non-exclusive goods

Economic growth in India is some-
times known as ‘Jobless growth’. The
appropriate reasons of Jobless

growth are :
(1)  Use of capital intensive technology
(i1) Job loss during transition period
(tzi1) Increase in labour productivity
(tv) Climate changes

Select the correct code :

(A) @), () and (@i7)

(B) (@) and (@v)

(C) @Gv) and @)

(D) @i) and (v)

68.

69.

MAR - 11223/1I—B

TR ST Thl WIS STHREAT IK] a1l

(B) stufaeqef a%q
(C) HrelsIeh &
(D) STTaRSa &)
ARATA ST Jgl e el ISR

o o (aWy}

fofed 5l

UsiRfeRfed g I RO TR

BUH SlsEe Sd. STl
() HSIATEN qAFENE 9T
(ii) FRH hiesrdled AlRd=l B
(i) RN SACHAdA 16

(fv) BAMHEM dQcd

JE Gehdrehel fae &3 :
(A) (), (i) 3T (i)

(B) (@) A (Gv)

(C) @) 3T @)

D) @Gii) 3T (o)
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70.

71.

According to Global wage report
2018-19, Gender Wage Gap in India
WAS ceeeereiineeennnees percentage.

(A) 33.0

(B) 33.5

(C) 34.0

D) 34.5

Match the following :
State

(@) Andhra Pradesh

(b) Karnataka

(¢) Tamil Nadu

(d) Maharashtra

Female Literacy Rate

(Census 2011)

(@) 68.1
@) 59.1
(@ii) 75.9
(iv) 73.4
Codes :

(@ b)) @ (@
A @ @) @ G)
B) @ @) G ()
C @ @O G @)
D) Gv) @ @) @)

MAR - 11223/11—B

70. SFTfdes dd9 Tgard 2018-19 THR,

IRAE fAIaR a7 awed
ZFh Tl BIdl.

(A) 33.0
(B) 335
(C) 34.0
(D) 345

71. Sredl Jeodl :

T
(@) TP
(b) THACH
(c) dfHesTTE
(d) HEN™E
it W T
(S=TUTT 2011)
@) 68.1
(@) 59.1
(i11) 75.9
(lv) 73.4
Hehdiah :

(@ b)) @© (@
A @ @) @ (Go)
B) @& @G G @)
C) @ @ @ )
D) @) @ Gu) @)
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72.

73.

Arrange the following programmes

in  chronological order of
introducing :

() DPAP
@) JRY

(iii) IRDP

(iv) MNP

A) (), Gi), Gii), )

B) (), Gv), (), (i)

©) Gv), (D), (i), ()

D) Gi), G, (i), (iv)

Shankarlal Guru Committee was

associated with :

(A) Agricultural Production

(B) Agricultural Product Pricing

(C) Agricultural Marketing

(D) Public Distribution System

72.

73.
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Tt IR M= eaTd Sered
FHIAHATER TS I

(1) DPAP

@) JRY

(zzz) IRDP

(lv) MNP

A) @), @), GiD), (v)
B) @), (v), GiD), (1)
(C) (v), (i), (@), (@)

(D) @), (@), @), (v)

Wﬂ-{;gﬁ?ﬁ- ............... Q‘ﬁwfaa
Bl
(A) FHft See

(B) T et fhaa iyt
(C) Feit fauue

(D) wreien foaaeor sgereen
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74. Which Act was framed specially to

75.

deal with Non-Performing Assets

(NPAs) ?
(A) Banking Regulation Act, 1949
(B) FEMA-1999
(C) Industrial Disputes Act, 1947
(D) SARFAESI Act, 2002
Match the following :

Committee
(@) Goswami Committee
(®)
(c)
(d)

Bhandari Committee

Rangrajan Committee

Gupta Committee
Area

@)

(73]

Unemployment
Industrial Sickness
(zii) Balance of Payments
(tv) Restructuring of Rural Banks
Codes :

(@) (b)
A @ @)
(B) Gv) @)
(C) @) Gv)
D) @ @)

(c)
(€223)
(i)
(€223)

(tv)

(d)
(iv)
@
@
(i)

MAR - 11223/11—B

74. AT Gt (NPAs) BTdTesvaTdTa!

75.

TIIISIE hITAT ShIIE] SH0Ad STl ?

(A) dfrT fmT FERI-1949

(B) ®H1-1999

(C) 3Tt faeme +Ee-1947

(D) SARFAESI <me1-2002

-~

g Sire Sese
1L i
(@) TR @
(b) ¥Rl |t
(c) VTS HfH
(d) T S
&t

@) SRS
@) ST ST
(iif) ATERATA
(iv) TTHOT SR TR
W :
(@) (b)
A @ @)
(B) @Gv) G)
(C) @) @v)
D) @ @GiD)

(c)
(i1i)
(i)
(tii)

(tv)

(d)
(iv)
@)
©)
(i1)
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76.

77.

78.

SAFTA is related to ................... .
(A) Education

(B) Trade

(C) Security

(D) Environment

Wholesale Price Index (WPI) in
India is released periodically

o) 72N .

(A) Office of Economic Advisor
(B) Central Statistics Office

(C) National Sample Survey Office
(D) Reserve Bank of India

New series with base year 2011-12

has removed the concept of ............ .
(A) GDPyp
(B) GDPpc
(C) NDPyp

(D) NDPp

76.

77.

78.

MAR - 11223/1I—B

SAFTA
(A) fererm
(B) MR
(C) gferaan

(D) gIfET

ORAd oM&e fhAd f<ems (WPI)

NN N
R SR el Sl

(A) 3T HealR ShEied

[a

T HfETeht hiateT

(B) =

(C) TS THAT T&IUl Hraierd
D) W g o

SMYRYA o 2011-12 ¥ T Hifeteh

2l GehoUdl oMl 3R,
(A) GDPyp
(B) GDPp
(C) NDPyp

(D) NDPp
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79. Match the following : 79. AFA Sed Jeodl :
Revolution Eanil
(@) Yellow revolution (@) ToEed i
() Blue revolution (b) fredt wicht
(¢) Red revolution () o Il
(d) Pink revolution (d) TS Shdl
Father of Revolution Shidel Seh
() Vishal Tewari G) foeme qard
(i) Durgesh Patel (i) S qedA
(i) Dr. Arun Krishnan (iii) ©T. 3T&U FHEUH
(iv) Sam Pitroda Gv) ¥\ fulier
Codes : Hehdiah :
@ ®) © (@ @ ® @ @
A @ G G Gv) A G G G G
B) Gv) G G GD) B) Gv) G Gi) G
©) Gv) Gii) G @ ©) Gv) Gi) G @
D) Gv) Gii) G GD) D) Gv) GiD) G  GD)
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80.

81.

In agriculture, marketable surplus

can be defined as .................... .

(A) Current production + Stock

(B) Current production — Marketed
Surplus

(C) Current production — Current
Consumption

(D) Current production — Stock —

Current Consumption

Consider the pair of goods X or Y.
It is observed that when price of Y
falls, the demand for X also falls.
Which one of the following options
would you choose regarding the

nature of these goods ?

(A) They are complementary goods
(B) They are substitute goods

(C) They are inferior goods

(D) They are giffen goods

80.

81.
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T Teuid, fashiara snfuerm= =

.................. N I
(A) =] 3T + HIal

(B) =Te] Scared — foshia stifeem
(C) =Te] 3RA — =T U4

(D) =] SARA — 93l — <Te] ITHUAT

& 3T I IR SISl AT 3T HHS.

3 fogA Ad i, Siegr 4 a&g= fohdd
Fed del & el "Nl SEi Hed.

T T EEIEEA AU YEIcAdeh!
IO T e ?

(A) I 9% Lk AR
(B) o %] AR aed
(C) o a& HiTS TR

(D) =1 g e o%q eed
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82.

83.

In the third stage of production, the

total product is :

(A) Rising

(B) Constant

(C) Maximum

(D) Falling but positive

According to Kenneth Arrow people

do not prefer :

(A) Flight insurance
(B) Property insurance
(C) Life insurance

(D) Flood insurance

83.

MAR - 11223/11—B

(D) ¥ed W &S 3T

Y = HATJHR Al

© gHd Hd AR,
(A) Sgmr famr
(B) guer famr

(C) Tgfer
(D) R fom

84. The basic objective of applying the | 84. @We faga SIVEETLRIE R U] SIS
game theory is: | o
(A) To maximise profits
(A) WHe<H %I
(B) To maximise sale
(B) #exH fersht
(C) To arrive at the dominant
strategy (C) gwrEt fofg (sget=r)
(D) To minimize marginal cost (D) HH I HHT IO
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85.

86.

Other things remaining constant, if

a competitor of commodity X carries

out a successful advertisement

campaign, the demand curve for X

shall .....coooeeeiiaiil. }

(A) Shift to the left

(B) Shift to the right

(C) Become positively sloping

(D) Become parallel to Y axis

The payment to the input is in fixed

supply in the short-run is called :

(A) Economic rent

(B) Quasi rent

(C) Transfer earnings

(D) Producer’s surplus

85.

86.
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TR URTE fEer STHamMI, SR TEnel &

TR TIHER I Seqd AGH

(A) STEhe Tl

(B) 3Sldiehe Tlehdl

(C) ¥ AR el

(D) I &I FHIGR eral

SR e qLEa] STEeied] S
S S —— S N —
(A) sffs T
(B) vfaed @s

(C) TR Iq

(D) AT IE
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87.

A necessary (but not sufficient)
condition for the existence of a

general equilibrium is .................. .

(A) Number of independent equations
and number of unknowns must be

the same

(B) Prices of all goods should be

equal

(C) Supply of factors and prices of

goods must be equal

(D)

Demand for factors and supply

of goods should be the same

87.

MAR - 11223/11—B

AR HaAT=A AT Th

METaF (W ) 31 BIS

& B

(A) TGS FHTHIOTET F&dr ooy

ST T ARE 3THeA= aTfgst

(B) ¥ a&j=a fhadl AREA STHedr

aTfestd

(C) =R qaral 3o orgean fehedt

[N

ARl HAHAE Hilesid

(D) ®ehi= ARTOR ST a&g=n qREel

OREE 319l TIfes]

88. Walras argued that all .............. and | 88. IfeRHATA ¥d Hd AR & 7
..................... in all markets are WW&W@[W@@ )
determined simultaneously through

d s Y= shean S
their interaction with one another.
(A) foadt smfor e
(A) Prices, quantities
(B) Demand, prices (B) ot eqifor feperch
(C) Supply, prices (C) g@al amfor fepwt
(D) Prices, costs (D) foud sufon ==
41 [P.T.O.



89.

90.

Suppose Anil and Sunil are at an
allocation bundle where their
marginal rates of substitution are

not equal, then ............... .

(A) There are losses from exchange

(B) There are gains from exchange

(C) They are outside the Edgeworth

box

(D) They are at an equilibrium

Second fundamental theorem of
welfare economics assumes that all

consumers and producers are :

(A) Price leaders

(B) Price makers

(C) Price takers

(D) Price followers

MAR - 11223/1I—B

89. Hsm @ smfor e a=Ad Tanl

RIEET I 3T el 378 ohi AT
o HH A € FHE TS ST

e ¢

(A) fafmare e e

o~

(B) fafTHarga oy fHesdrd

(C) d Uad Ufesh=an 9 A

(D) T Gqe feerdia stHam

90. HTATUMAT TH-AT JeAYd THATTHR YL

.

(A) fFma Fga HOM

(B) foyaa @R 3mRd

(C) forHa TRROM 3A1Rd

(D) forua STamh eTmea
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91. Arrow’s impossibility theorem argues

that :

(A)

(B)

(C)

It is impossible to devise strong

social ordering

It is possible to devise weak

social ordering

It is impractical to find political

solutions to economic problems

MAR - 11223/11—B

91. 3TU=a STl THATTER :

(A)

(B)

()

oo

g

oI GrHTrSIeh e leﬁd ch U]

HT AR

(alla

Sl

=d AR AT Hifgd hiol

I A

afeier IHEIeR TSIk SUTH Hifgd

0 TR 3R

(D) Social choice is always optimum (D) wrIfSeh fore et ot
92. Recession means : 92. TH TWUR :
(A) Period of increasing prices
(A) AU foRudi=n e
(B) Period during which aggregate
output decreases (B) TRU 3G HZUATAT <hlod
(C) Period of declining unemploy- (C) SRS SvEE e
ment
(D) diecAT AMURTET <hlod
(D) Period of increased trade
43 [P.T.O.



93.

94.

A cut in tax rate for reducing the
cost of capital and encouraging

business investment is an example

Of ceveeeeeee, .

(A)

Expansionary demand side

policy

(B)

Contractionary demand side

policy

(C) Expansionary supply side

policy

(D) Contractionary supply side

policy

Which of the following has a positive

impact on investment ?

(A) An increase in the nominal

interest rate
(B) A higher capital stock

(C) An expected decline in the

demand for goods

(D) An increase in expected
inflation with wunchanged

nominal interest rate

93.

94.

MAR - 11223/1I—B

el T HHl H{0 9 FAHEd

TAAUHRICT ATAT STITHS! HIQIA

T H0 T YETdhl HIM SR

Aqe ?

(A) o=@ AmToiS= &

(B) Tefad ANV &R0T

(C) fowafia qrass= &o

(D) Tehfad JRESN &R

qEAd®RT HIUMAI EEH [ATIH AR

HhWIcHe gRomH a2

(A) TTHATS HSEAAA e

(B) wigacr=n AT el

(C) I&[=A AN sTafed oe

(D) A SEAA! ATHATS NG d HTa-

el STUfed o
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95.

96.

The opportunity cost of holding

money is called as :

(A) Nominal interest rate

(B) Inflation

(C) The real return on investment

(D) Savings

If the nominal money supply grows

by 4% per year, velocity is constant

and the real GDP grows by 1% per

year, inflation would be ................ .

(A) 1%

(B) 2%

(C) 3%

(D) 4%

95.

96.

MAR - 11223/11—B

U Ao Gt " W|US

(A) HAE AN I

(B) =M HIER

(C) TAaUhieRIcl arde qXdrE

(D) &=d

SR YT A QRS Uiaast 4 5l

oG, YHOTE FEer /e 9 add TR

YA 3= fqa! 1 2RIl aTed 31

W Fogael fohdt 2oh s™@a ?

(A) 1 ZFhT

(B) 2 TFh

(C) 3 TFh

(D) 4 ZFh
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97.

98.

In the equation C = a + bY describing
the aggregate consumption function,

a stands for :

(A)

The amount of consumption

when income is zero

(B) Marginal propensity to consume

(&)

The amount of consumption

when the income is maximum

(D) Marginal propensity to save

Classical economists argued that

money is neutral because ............. .

(A) Prices adjust to a monetary

expansion only in the long-run

(B) Prices are slow to adjust to a

monetary expansion

(&)

Prices are fixed in the short-run

(D) Prices adjust quickly to a

monetary expansion

97.

98.
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TR YU Fedd SR C = a + bY

1 GHRLOTAA @ Ul

(A) 3= YA STHEAAET STHN

(B) HHIq SUHM Yot

(C) 3= HgAH STEAETE SYEN

(D) ¥H| a=d Jgt

T SeE STl @ yfaues gl
AYAA hd BRI :

(A) erd e feRddl T

foreel S[esgd =i

(B) et fasanredt fohwclt ST ooeen
NCERIEGIG]

(C) TTshieard forAdl fEer orddmE

(D) Uz foreamoeft et stfawra

SNEGE RIS G- LRGN
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99. As Marginal Propensity to Save

(MPS) increases, the value of

multiplier would :

(A) Increase

(B) Increase or decrease depending
upon the size of change in

investment

(C) Remain constant

(D) Fall

100. What happens if the injections

are less than the leakages at
full employment level of national

income ?

(A) Inflationary Gap

(B) Equilibrium

(C) Hyper-inflation

(D) Deflationary Gap

99.

100.

MAR - 11223/11—B

G s=d Yoait diecl STEal T[Ureh

(A) dd

(B) T[AE&ISAT deaT=Al STHRRITIR

oied fewen = B

(C) feem T=a

(D) A

o = a .
Al s 'TJT LS YTdAAY HAHATHT

ez el FIqeRo) S STHeAH Jeradeh]

& B ?
(A) FeHfoaRs= T

(B) Hge

o o

(C) JATdREFd HIadle

(D) IATHERES T
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ROUGH WORK
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